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B.E/B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

FOURTH SEMESTER

COMPUTER SCIENCE AND ENGINEERING

(S 46 — DATABASE MANAGEMENT SYSTEMS

(Common wklnf‘o'r'mation Tedhnology)

(REGULATIONS 2008)
Time : Three hours : Maximum : 100 marks

- Answer ALL questions.

* PART A (10 x 2 = 20 matks)

1. Give the Jimitations of E-R model. How do you overcome
this? | .

2. Compare file system and database system.

3.  What are the three forms of outer join? How do they
differ?

4. ‘“Is it possible to perform binary operations over the
relations™? Justify.




[image: image2.png]5. Why it is necessary to decompose a relation?
6. Define trivial functional dependency.

7. What benefit is provided by strict — two phase lock
What are the disadvantages results?

8. When are two schedules conflict equivalent?

9. How does a B-tree differ from B trees? Why is B*
usually preferred as an access structure to a data file?

10. Give any two advantages of sparse index over de
index. .

PART B — (5% 16 = 80 marks)

11. (@ & Explain the component modules of a DI
. and their interactions with the architectur

(i) Construct an ER diagram to model o
Bookstore.

Or

® () Explain the difference between physical
logical data independence with an exampl

(i) What is a data model? Explain various
model for describing the design of a dat
at the logical level.
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13.
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()

Lonsiaer the database glven Dy e 10UOWIE

schemas : (16

Customer (Cust_no, sales_person_no, city)

Sales_person(sales_person_no, Sales_person_name

common_prec, year_of_hire)

Give the SQL, Relational algebra, Tuple relationa

caleulus expression for the following :

(i) Display the list of all customers by cust_ne
with the city in which each is located.

(i) List the names ofithé sales persons who have
accounts in Delhi.

Or

(i) Write short notes on d.lfferent levels databas:
secumy . . ®
@i Compgarc distributed databases an
client/server databases, their processing anc
their applications. (10

i)  Consider. the untversal relatio:

R(A,B,C'D,E,F,G,H,1,J) and the set o
FD's.
G=({A,B} > {C},{B,D} > {E, F}, {A, D} > {G, H}
A - {8, 8-> )
What is the key of R? Decompose R into 2NF
then 3NF relations. (10
(1) Discuss how schema refinement througl
dependency analysis and normalization ca

improve schemas obtained through ER design.
(6

Or

218
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15.
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(a)

®
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@

()

Justify the need for normalization with
examples. ()]

Write short notes on normalization using
multivalued dependency and join
dependencies. 8)

What is concurrency control? How is it implemented

in DBMS? Explain. - ‘ 18y
/«’/Ot",r’Q
@ Explain the various data base recovery
mechanism. . ®)
(i) What is deaQ Jock? What are the mechanisms
to prevent and detect dead locks? (10)
@ What are the disadvantages of index -
sequential file organization? How it is rectified
by B tree index files? )
(i) Explain the structure of B* tree. How to
process yueries in B* tree? (10)
Or
() Explain various hashing techniques. (8)
() What is RAID? List the different levels in

RAID technology and explain its features.  (8)
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